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B+ HEELER L=0.4km m3 1,020.0 1,020
ExtT = 1.0
RIET =X 1.0
K T ® m3 157.1 160
/=S m3 173.6 170
BRLT X 1.0
BRL W<1.0m m3 42 4
HEKT = 1.0
EEHKT = 1.0
BEREHKE '.é.qg%%#fu:%y m 14.6 15 HAE
T4V E—H | BRRE4S m3 25.4 25
KiRENAT  VP150 m 10.0 10
RERT = 1.0
meft T X 1.0
FEILALESA  =3cmEWBEY | m2 134.0 134
Tn5T =® 1.0
ARBELDSHRE 2t MiHxtE & 6.0 6




BT T BtT HEHEE .
£ h O g = B # =
AL W<2.5m WrEmEtEE LY m3 3.9

40m=W BrEEELY m3 914.4
BT AEEl | 1L=0.4km 39 + 9144 m3 918.3
E i T 918309 m3 10200




B B £ T BIT HEHEE P.
i PRRRE T BT
b BA PR W<2.5m 40m=W B =
(m) Wr M B = BT m T 15 8 = BT m T 15 =
NO. 5+15.9 0.000 0.4 0.0 0.0 0.0
NO. 5+19.6 3.700 0.4 0.40 1.5 16.6 8.30 30.7
NO. 6 0.400 0.4 0.40 0.2 16.6 16.60 6.6
NO. 6+ 5.6 5.600 0.4 0.40 2.2 16.6 16.60 93.0
NO. 6+5.6 0.000 43.2 0.0
NO. 7 14.400 43.2 43.20 622.1
NO. 7+ 175 7.500 0.0 21.60 162.0
- m m3 m3 m3 m3
= 31.600 3.9 914.4




EELT T

EELT HEHEE

P.

% [ O g = B # =

K 1B x ® PrEEELY m3 157.1

m 5 BrEEELY m3 173.6

m3 330.7

BEREL W<1.0m PrEHEELY m3 42

RRELSIL =3em2BEY  WEAHELY m2 | 1340
WefT T




g £ I 2T MEHEE P.
o R R REZEIL LR T
Ao o= L-Kiishd (£ ®) (% %) (t=3cm , £HEFY ) =
(m) ¥ m 15 %8 B m ¥ 15 #E ¥ m 15 %8 B m I 15 £
NO. 5+6.0 0.000 6.8 15.0 4.7
NO. 5+15.0 9.000 9.3 8.05 725 7.8 11.40 102.6 8.3 6.50 58.5
NO. 6 5.000 9.3 9.30 38.1 7.8 7.80 32.0 8.3 8.30 34.0
NO. 6+5 5.000 9.3 9.30 46.5 7.8 7.80 39.0 8.3 8.30 41.5
- m m3 m3 m3
0" 19.000 1571 173.6 134.0




£ ¥ £+ T

_ EELT HEHEE P.
. HRL
A = AR (W<1.0m) m=E
(m) B W T 15 = B W T 15 = o] ) =

NO. 5+6.0 0.000 0.0 0.0
NO. 5+15.9 9.900 0.3 0.15 15
NO. 6 4.100 0.3 0.30 12
NO. 6+5 5.000 0.3 0.30 15

P m m3

- - 19.000 4.2




H K I

EEPKT BEHEE

P.
£ L iz & B # 2
EEHIKE NO.6 + 56 ~ NO.7 m 14.6

EREBEKE
, W2 Z14IILE—#
‘ (BRIHR4S)
o
D
,,,,,,,, [0)
‘ / W1
BESAE OI0AAE) /
(EEER)IFLUE) A=1. 74m2
£ L H OB g =X BT =
(1.0xXHY)
EEHKE D150, FFAE m 14.6
BEERIFLVE
T4IL3—% BRHEBR4IS 174 * 14.60 m3 254
KikZ=/4F | VP150 m 10.0




